# SAKARYA ÜNİVERSİTESİ <br> fen bilimleri enstitüsũ <br> DERGİSI <br> <br> Sakarya University Journal of Science <br> <br> Sakarya University Journal of Science SAUJS 

 SAUJS}

ISSN 1301-4048 e-ISSN 2147-835X Period Bimonthly Founded 1997 Publisher Sakarya University http://www.saujs.sakarya.edu.tr/

Title: All solutions of the Diophantine equations $2 F \_n=3 \wedge s \cdot y^{\wedge} b$ and $F \_n \pm 1=3 \wedge s \cdot y^{\wedge} b$

Authors: İbrahim ERDURAN, Zafer ŞİAR

Recieved: 2022-02-10 00:00:00
Accepted: 2022-04-18 00:00:00
Article Type: Research Article
Volume: 26
Issue: 3
Month: June
Year: 2022
Pages: 488-492
How to cite
İbrahim ERDURAN, Zafer ŞİAR; (2022), All solutions of the Diophantine equations
$2 F \_n=3^{\wedge} s \cdot y^{\wedge} b$ and $F \_n \pm 1=3^{\wedge} s \cdot y^{\wedge} b$. Sakarya University Journal of Science, 26(3), 488-492, DOI: 10.16984/saufenbilder. 1069960
Access link
http://www.saujs.sakarya.edu.tr/tr/pub/issue/70993/1069960

# All solutions of the Diophantine equations $2 F_{n}=3^{s} \cdot y^{b}$ and $F_{n} \pm 1=3^{s} \cdot y^{b}$ 

İbrahim ERDURAN*1 ${ }^{1}$ Zafer ȘİAR ${ }^{1}$


#### Abstract

The Fibonacci sequence $\left(F_{n}\right)$ is defined by $F_{0}=0, F_{1}=1$, and $F_{n}=F_{n-1}+F_{n-2}$ for $n \geq 2$. In this paper, we will give all solutions of the Diophantine equations $2 F_{n}=3^{s} \cdot y^{b}$ and $F_{n} \pm$ $1=3^{s} \cdot y^{b}$ in nonnegative integers $s \geq 0, y \geq 1, b \geq 2, n \geq 1$ and $(3, y)=1$.


Keywords: Fibonacci and Lucas numbers, exponential Diophantine equations, elementary number theory

## 1. INTRODUCTION

The Fibonacci sequence $\left(F_{n}\right)$ is defined by $F_{0}=$ $0, F_{1}=1$, and $F_{n}=F_{n-1}+F_{n-2}$ for $n \geq 2$. The Lucas sequence ( $L_{n}$ ), which is similar to the Fibonacci sequence, is defined by the same recursive pattern with initial conditions $L_{0}=2$, $L_{1}=1$. The terms of the Fibonacci and Lucas sequences are called Fibonacci and Lucas numbers, respectively. The Fibonacci and Lucas numbers for negative indices are defined by $F_{-n}=(-1)^{n+1} F_{n}$ and $L_{-n}=(-1)^{n} L_{n}$ for $n \geq$ 1. For a brief history of Fibonacci and Lucas sequences one can consult [7]. The Fibonacci and Lucas sequences have many interesting properties and have been studied in the literature by many researchers. They specially have interested in square terms, perfect powers in these sequences and the exponential Diophantine equations including these sequences. Firstly, square terms and later perfect powers in the Fibonacci and Lucas sequences have attracted the attention of the researchers. As related these subjects, the
authors gave the following theorems, which can be deduced from $[4,5,6]$ and are useful to us.

Theorem 1. The only perfect powers in the Fibonacci sequence are $F_{0}=0, F_{1}=1, F_{2}=$ $1, F_{6}=8$ and $F_{12}=144$.

Theorem 2. The only perfect powers in the Lucas sequence are $L_{1}=1$ and $L_{3}=4$.

## Theorem 3. If

$F_{n}=2^{s} \cdot y^{b}$
for some integers $n \geq 1, y \geq 1, b \geq 2$ and $s \geq 0$ then $n \in\{1,2,3,6,12\}$. The solutions of the similar equation with $F_{n}$ replaced by $L_{n}$ have $n \in\{1,3,6\}$.

Theorem 4. If

$$
F_{n}=3^{s} \cdot y^{b}
$$

[^0]ORCID: https://orcid.org/0000-0003-3307-8181, https://orcid.org/0000-0002-6473-4754
for some integers $n \geq 1, y \geq 1, b \geq 2$ and $s \geq 0$ then $n \in\{1,2,4,6,12\}$. The solutions of the similar equation with $F_{n}$ replaced by $L_{n}$ have $n \in\{1,2,3\}$.

Recently, many mathematicians have dealth with exponential Diophantine equations concerning Fibonacci and Lucas numbers. For example, the Diophantine equation $L_{n}+L_{m}=2^{a}$ has been tackled in [2] by Bravo and Luca. Two years later, the same authors solved Diophantine equation $F_{n}+F_{m}=2^{a}$ in [3]. Besides, in [5], Bugeaud et al. showed that if
$F_{n} \pm 1=y^{a}$
for some nonnegative integers ( $n, y, a$ ) with $a \geq$ 2 , then $n \in\{0,1,2,3,4,5,6\}$. In [1], the authors proved that if
$F_{n} \pm 2=y^{a}$
for some nonnegative integers ( $n, y, a$ ) with $a \geq$ 2 , then $n \in\{1,2,3,4,9\}$. Later, in [10], Luca and Patel handled the equation
$F_{n} \pm F_{m}=y^{p}, p \geq 2$,
which is general form of the equations (1) and (2). They found that the Diophantine equation (3) in integers ( $n, m, y, p$ ) has solution either $\max \{|n|,|m|\} \leq 36$ or $y=0$ and $|n|=|m|$ if $n \equiv m(\bmod 2)$. This problem remain open for the case $n \not \equiv m(\bmod 2)$. But, in [8], the authors solved this equation by fixing $y$ in the interval [2,1000].

Motivated by the above mentioned studies, in this paper, we consider the Diophantine equations
$F_{n}+F_{n}=2 F_{n}=3^{s} \cdot y^{b}$
and
$F_{n} \pm 1=3^{s} \cdot y^{b}$
in nonnegative integers $s \geq 0, y \geq 1, b \geq 2, n \geq$ 1 and $(3, y)=1$.

## 2. PRELIMINARIES

In this section, we will give some idendities including Fibonacci and Lucas numbers, which will be used in the proofs of the main theorems. The following identites can be found in [9].

$$
\begin{equation*}
F_{n+1}+F_{n-1}=L_{n} . \tag{6}
\end{equation*}
$$

If $m \geq 3$, then $F_{m}\left|F_{n} \Leftrightarrow m\right| n$.
If $m \geq 2$, then $L_{m}\left|L_{n} \Leftrightarrow m\right| n$ and $\frac{n}{m}$ is odd.
$F_{3 n}=F_{n}\left(5 F_{n}^{2}+3(-1)^{n}\right)$.
The following theorem is given in [9].
Theorem 5. ([9], Theorem 10.9), The following equalities hold.

1. $F_{4 k}+1=F_{2 k-1} \cdot L_{2 k+1}$,
2. $F_{4 k+1}+1=F_{2 k+1} \cdot L_{2 k}$,
3. $F_{4 k+2}+1=F_{2 k+2} \cdot L_{2 k}$,
4. $F_{4 k+3}+1=F_{2 k+1} \cdot L_{2 k+2}$,
5. $F_{4 k}-1=F_{2 k+1} \cdot L_{2 k-1}$,
6. $F_{4 k+1}-1=F_{2 k} \cdot L_{2 k+1}$,
7. $F_{4 k+2}-1=F_{2 k} \cdot L_{2 k+2}$,
8. $F_{4 k+3}-1=F_{2 k+2} \cdot L_{2 k+1}$.

Using the property $\left(F_{m}, F_{n}\right)=F_{(m, n)}$ given in Theorem 10.3 of [9], it can be easily seen that the greatest common divisors of Fibonacci and Lucas numbers in the right side of the equalties in the above theorem are 1 or 3. Particularly,

$$
\begin{align*}
\left(F_{2 k-1}, L_{2 k+1}\right) & =\left(F_{2 k+1}, L_{2 k}\right)=\left(F_{2 k+1}, L_{2 k+2}\right) \\
& =\left(F_{2 k+1}, L_{2 k-1}\right)=\left(F_{2 k}, L_{2 k+1}\right) \\
& =\left(F_{2 k+2}, L_{2 k+1}\right)=1 \tag{10}
\end{align*}
$$

and

$$
\begin{equation*}
\left(F_{2 k+2}, L_{2 k}\right)=\left(F_{2 k}, L_{2 k+2}\right)=1 \text { or } 3 . \tag{11}
\end{equation*}
$$

## 3. MAIN THEOREMS

Theorem 6. The only solutions of the Diophantine equation (4) in nonnegative integers $s \geq 0, y \geq 1, b \geq 2, n \geq 1$ and $(3, y)=1$, are given by
$(n, s, y, b)=$
$(3,0,2,2),(6,0,2,4),(6,0,4,2),(12,2,2,5)$.
Proof. Assume that $(n, s, y, b)$ is a solution of the equation (4). If $s=0$, then we get $2 F_{n}=y^{b}$ and therefore $F_{n}=2^{b-1} \cdot\left(\frac{y}{2}\right)^{b}$. This equation has solutions only for $n=3$ or $n=6$ by Theorem 3 . Thus, we can see by a simple computation that $(n, s, y, b)=(3,0,2,2),(6,0,2,4),(6,0,4,2)$.
From now on, assume that $s \geq 1$. On the other hand, it is clear that $y$ is an even number. Say $y=$ $2^{r} x$ for some positive integers $x$ and $r$ such that $(x, 2)=1$. Then we have the equation
$F_{n}=3^{s} \cdot 2^{r b-1} \cdot x^{b}$.
Let $n$ be the smallest positive integer satisfying the equation (12). Since $b \geq 2$, it follows that $2^{r b-1}$ is an even number. Therefore $2 \mid F_{n}$, which implies that $3 \mid n$ by (7). Hence, $n=3 k$ for some positive integer $k$. Thus, we get the equation

$$
\begin{align*}
F_{n}=F_{3 k} & =F_{k}\left(5 F_{k}^{2}+3(-1)^{k}\right) \\
& =3^{s} \cdot 2^{r b-1} \cdot x^{b} \tag{13}
\end{align*}
$$

by (9). Since $s \geq 1$, it follows that $3 \mid F_{n}$ and thus it can be seen that $3 \mid F_{k}$ and $3 \mid\left(5 F_{k}^{2}+3(-1)^{k}\right)$. Therefore, it should be $s \geq 2$. Then, the equation (13) can be written

$$
\begin{equation*}
\left(\frac{F_{k}}{3}\right)\left(\frac{5 F_{k}^{2}+3(-1)^{k}}{3}\right)=3^{s-2} \cdot 2^{r b-1} \cdot x^{b} . \tag{14}
\end{equation*}
$$

Also, it is obvious that $\left(\frac{F_{k}}{3}, \frac{5 F_{k}{ }^{2}+3(-1)^{k}}{3}\right)=1$ and thus $3 \nmid\left(\frac{5 F_{k}^{2}+3(-1)^{k}}{3}\right)$. Hence, we have $\frac{F_{k}}{3}=3^{s-2} u^{b}$ and $\frac{5 F_{k}^{2}+3(-1)^{k}}{3}=2^{r b-1} v^{b}$ or
$\frac{F_{k}}{3}=3^{s-2} \cdot 2^{r b-1} \cdot u^{b}$ and $\frac{5 F_{k}^{2}+3(-1)^{k}}{3}=v^{b}$
for some positive integers $u$ and $v$ such that $(u, v)=1, u v=x$. In the first case, the equation $F_{k}=3^{s-1} u^{b}$ has solution only for $k=4$ or $k=$ 12 by Theorem 4 since $s \geq 2$. If $k=4$, then we get $s=u=1$ and $b=5, r=v=1$ from the equality

$$
\frac{5 F_{k}{ }^{2}+3(-1)^{k}}{3}=\frac{5 F_{4}{ }^{2}+3(-1)^{4}}{3}=16=2^{r b-1} \cdot v^{b} .
$$

Thus $(n, s, y, b)=(12,2,2,5)$ is a solution. In the second case, we have the equation $F_{k}=3^{s-1}$. $2^{r b-1} \cdot u^{b}$, which is in the form (12). But, since $k<n$, this contradicts our assumption that $n$ is the smallest positive integer satisfiying the equation $F_{k}=3^{s-1} \cdot 2^{r b-1} \cdot u^{b}$.

As a result, the solutions ( $n, s, y, b$ ) satisfying (4) are $(3,0,2,2),(6,0,2,4),(6,0,4,2)$ and $(12,2,2,5)$. Thus, the proof is completed.

Theorem 7. Let $s \geq 0, y \geq 1, b \geq 2, n \geq 2$ and $(3, y)=1$. Then all solutions of the equation
$F_{n} \pm 1=3^{s} \cdot y^{b}$
are
$F_{4}+1=4=3^{0} \cdot 2^{2}, F_{6}+1=9=3^{2} \cdot 1^{b}$, $F_{3}+1=3=3^{1} \cdot 1^{b}$
and
$F_{5}-1=4=3^{0} \cdot 2^{2}, F_{3}-1=1=3^{0} \cdot 1^{b}$, $F_{7}-1=12=3^{1} \cdot 2^{2}$.

Proof. Assume that $(n, s, y, b)$ is a solution of the equation (15). If we divide $n$ by 4 , we can write $n=4 k+r$ with $0 \leq r \leq 3$ for some integers $k, r$. Thus, considering the equation (15) together with Theorem 5, we have the following cases:
i) $F_{4 k}+1=F_{2 k-1} \cdot L_{2 k+1}=3^{s} y^{b}$,
ii) $F_{4 k+1}+1=F_{2 k+1} \cdot L_{2 k}=3^{s} y^{b}$,
iii) $F_{4 k+2}+1=F_{2 k+2} \cdot L_{2 k}=3^{s} y^{b}$,
iv) $F_{4 k+3}+1=F_{2 k+1} \cdot L_{2 k+2}=3^{s} y^{b}$,
v) $F_{4 k}-1=F_{2 k+1} \cdot L_{2 k-1}=3^{s} y^{b}$,
vi) $F_{4 k+1}-1=F_{2 k} \cdot L_{2 k+1}=3^{s} y^{b}$,
vii) $F_{4 k+2}-1=F_{2 k} \cdot L_{2 k+2}=3^{s} y^{b}$,
viii) $F_{4 k+3}-1=F_{2 k+2} \cdot L_{2 k+1}=3^{s} y^{b}$.

Case i) In this case, since $3 \nmid F_{2 k-1}$ and $3 \nmid L_{2 k+1}$ by (7) and (8), it follows that $s=0$. Then, using (10), we have the equations $F_{2 k-1}=u^{b}$ and $L_{2 k+1}=v^{b}$ for some integers $u$ and $v$ such that $(u, v)=1$ and $y=u v$. By Theorem 1, it is seen that $k=1, v=b=2$ and therefore $u=1$. Thus, $(n, s, y, b)=(4,0,2,2)$.

Case ii) Since $3 \nmid F_{2 k+1}$ by (7), we have $F_{2 k+1}=$ $u^{b}, L_{2 k}=3^{s} v^{b}$ for some integers $u$ and $v$ such that $(u, v)=1$ and $y=u v$. It can be seen that these equations have no solution by Theorem 1 and Theorem 4.

Case iii) We know that $\left(F_{2 k+2}, L_{2 k}\right)=1$ or 3 by (11). Firstly, let $\left(F_{2 k+2}, L_{2 k}\right)=1$. If $k$ is odd, then $3 \mid F_{2 k+2}$ and $3 \mid L_{2 k}$ by (7) and (8) and thus 3| $\left(F_{2 k+2}, L_{2 k}\right)$, which contradicts the fact that $\left(F_{2 k+2}, L_{2 k}\right)=1$. Therefore $k$ is even. Thus, since $3 \nmid F_{2 k+2}$ and $3 \nmid L_{2 k}$ by (7) and (8), it follows that $s=0$. Then we have the equations $F_{2 k+2}=u^{b}$ and $L_{2 k}=v^{b}$ for some integers $u$ and $v$ such that $(u, v)=1$ and $y=u v$. But, the equation $L_{2 k}=v^{b}$ has no solutions by Theorem 2. Secondly, let $\left(F_{2 k+2}, L_{2 k}\right)=3$. Then, it is obvious that $s \geq 2,\left(\frac{F_{2 k+2}}{3}, \frac{L_{2 k}}{3}\right)=1$ and $k$ is odd. In this case, we have the following equations
$\frac{F_{2 k+2}}{3}=u^{b}, \frac{L_{2 k}}{3}=3^{s-2} v^{b}$
and
$\frac{F_{2 k+2}}{3}=3^{s-2}, \frac{L_{2 k}}{3}=v^{b}$
for some integers $u$ and $v$ such that $(u, v)=1$ and $y=u v$. In both cases, we get $k=1$ by Theorem 4. Thus, making necessary calculation we obtain $(n, s, y, b)=(6,2,1, b)$.

Case iv) In this case, since $3 \nmid F_{2 k+1}$ by (7), we have the equation $F_{2 k+1} \cdot \frac{L_{2 k+2}}{3^{s}}=y^{b}$. Using (10),
this equation implies that there exist positive integers $u$ and $v$ such that $(u, v)=1, y=u v$, $F_{2 k+1}=u^{b}$ and $\frac{L_{2 k+2}}{3^{s}}=v^{b}$. By Theorem 1, the equation $F_{2 k+1}=u^{b}$ has a solution only for $k=$ 0 . Thus, we get $(n, s, y, b)=(3,1,1, b)$.

Since the proof of the last four cases is similar to that of the first four cases, we omit them. Considering a similar argument, we see that the solutions of the equation (15) is ( $n, s, y, b$ ) $=$ $(5,0,2,2),(3,0,1, b),(7,1,2,2)$. Thus, the proof is completed.

## 4. CONCLUDING REMARK

It is an open problem to find all solutions of the equation $F_{n} \pm F_{m}=3^{s} \cdot y^{b} \quad$ in nonnegative integers $s \geq 0, y \geq 1, b \geq 2, n \geq m \geq 1$ and $(3, y)=1$. Theorem 6 and Theorem 7 can be useful to find the solutions of the equation $F_{n} \pm$ $F_{m}=3^{s} \cdot y^{b}$.

## Acknowledgments

The authors wish to thank the editors and the anonymous referees for their contributions.

## Funding

The authors has no received any financial support for the research, authorship or publication of this study.

## The Declaration of Conflict of Interest/ Common Interest

No conflict of interest or common interest has been declared by the authors.

## Authors' Contribution

The first author contributed $40 \%$, the second author $60 \%$.

## The Declaration of Ethics Committee Approval

This study does not require ethics committee permission or any special permission

## The Declaration of Research and Publication Ethics

"The authors of the paper declare that they comply with the scientific, ethical and quotation rules of SAUJS in all processes of the paper and that they do not make any falsification on the data collected. In addition, they declare that Sakarya University Journal of Science and its editorial board have no responsibility for any ethical violations that may be encountered, and that this study has not been evaluated in any academic publication environment other than Sakarya University Journal of Science.

## REFERENCES

[1] M.A. Bennett, V. Patel, S. Siksek, "Shifted powers in Lucas-Lehmer sequences" Research in Number Theory, vol. 5, no. 1, pp. 1-27, 2019.
[2] J. J. Bravo, F. Luca, "Powers of Two as Sums of Two Lucas Numbers" Journal of Integer Sequences, vol. 17, no. 8, pp. 14-8, 2014.
[3] J. J. Bravo, F. Luca, "On the Diophantine Equation $F_{n}+F_{m}=2^{a "} \quad$ Quaestiones Mathematicae, vol. 39, no. 3, pp. 391-400, 2016.
[4] Y. Bugeaud, M. Mignotte, S. Siksek, "Classical and modular approaches to exponential Diophantine equations I. Fibonacci and Lucas perfect Powers", Annals of mathematics, vol. 163, no. 3, pp. 969-1018, 2006.
[5] Y. Bugeaud, F. Luca, M. Mignotte, S. Siksek, "Fibonacci numbers at most one away from a perfect power" Elemente der Mathematik, vol. 63, pp. 65-75, 2008.
[6] Y. Bugeaud, F. Luca, M. Mignotte, S. Siksek, "Perfect powers from products of terms in Lucas sequences" Journal fur die Reine und Angewandte Mathematik, vol. 611, pp. 109-129, 2007.
[7] L. Debnath, "A short history of the Fibonacci and golden numbers with their applications" International Journal of Mathematical Education in Science and Technology, vol. 42, no. 3, pp. 337-367, 2011.
[8] S. Kebli, O. Kihel, J. Larone, F. Luca, "On the nonnegative integer solutions to the equation $F_{n} \pm F_{m}=y^{a}$ " Journal of Number Theory, vol. 220, pp. 107-127, 2021.
[9] T. Koshy, "Fibonacci and Lucas Numbers with Applications", John Wiley and Sons, Proc., New York-Toronto, 2001.
[10] F. Luca, V. Patel, "On perfect powers that are sums of two Fibonacci numbers" Journal of Number Theory, vol. 189, pp. 9096, 2018.


[^0]:    * Corresponding author: ierduran01@gmail.com
    ${ }^{1}$ Bingöl University, Faculty of Science and Literature, Department of Mathematics
    E-mail: zsiar@bingol.edu.tr

